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o Please check that this question paper contains 7 printed pages.

Code number gives on the right hand side of the question paper should be written on the title page of
the answer - book by the candidate.

Please check that this question paper contains 30 questions.

Please write down the serial number of the question before attempting it.
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Time allowed : 3 hours Maximum Marks : 80
RefRa wae : 3 gve FRHaq & : 80
General Instructions :

(M All questions are compulsory.

(i) The question paper consists of 30 questions divided into four sections — A, B, C and D. Section A contains 10
guestions of 1 marks each, Section B is of 5 questions of 2 marks each, Section C is of 10 questions of 3 marks
each and Section D is of 5 questions of 6 marks each.

(iii) All questions in Section A are to be answered in one word, one word, one sentence or as per the exact
requirement of question.

(iv) There is no overall choice. However, internal choice has been provided in one question of two marks each, three
guestions of three marks each and two questions of six marks each. You have to attempt only one of the
alternatives in all such questions.

(v) In question on construction, drawings should be neat and exactly as per the given measurements.

(vi) Use of calculators is not permitted.
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SECTION A
yrs 3
Question numbers 1 to 10 carry 1 marks each.
T G 1 W 10 TF GAE FIT B 1 3F &/
1. Findthe LCM of2* x 3% x 5x 11,2 x 3* x 5x 7,and 2° x 3* x 53 x 72 x 11.
22 x32x5x11,2*x3* x 2 x 73k 2°x 3 x % 7> x 11 & o | 91 HifY

2. Check whether the number given along side of the polynomial are their zeroes.

x2—2\/§—9;x:3\/§,x:—\6

Sifg BIfSY 6 9gue & A1 & T8 WA IED! YAD © AT T |

X2 23X —9:x =33, x =3

3. Express the following situation in the form of a quadratic equation :

“The length of a rectangle exceeds its width by 8 cm and the area of rectangle is 240 sq cm”.
1 Reaf a1 Ua fgoma I9iexy & w9 H 236 I
TP AT P oldls 390! dIes I 8 A, STET 2 3R AT BT &7%hal 240 9 T, 7 |

A circular wheel of radius 28 cm, makes 300 revoluation per minute. Find the total distance covered by the wheel is one minute.
e TR ufean o) a7 28 9L 8, To e # 300 TFHR T € | URY ERT UG fAde § 99 &1 TS G g9 A B |

22
Usen=—
( 7)

5. Inthe given figure, AB is diameter of the circle with centre O and AC is tangent. If ZAOD = 60°, calculate ZACB.
TS A H, TP g9 et d' O € 31 @ AB iR wRi va@r AC 21 It LAOD =60° 2, @1 LZACB &1 A1 9 ST |

o/
C

A
6. Express the following situation as linear equations in two variables :

‘5 books and 7 pens together cost Rs. 79 where as 6 pens and 9 books cost Rs. 82°.
1 Reafar &1 a1 =_f &1 g wliaxol # e BT -
5 fopamat 8 7 U1 & ghedl HFd 79 %, ¥ WEfh 6 U QMR 9 fhaTal @ AT 82 ®. ¥ |

1
7. Find the perimeter of Figure 3, where KéD is semi-circle and ABCD is a rectangle.

3MTeBfcr 3 BT YRATT ST BT STel AED T 3fefgd & dum ABCD t& 3 2 |

A D
! .
20 @Tﬂ 20 W
v v
B1swd C
. . . . . . . tand 1
8. In the given figure, ABC is a right angled triangle, D is the mid-point of BC. Show that p =—.
tan 2
. tand 1
& ¢ el #, ABC v wwer et 2, D, BC @1 720 fag 2| Rwsy f& ¢=Eg\|
tan
TMC/D/79/89 2 P.T.O.

Resi.: D-79 Vasant Vihar ; Office : 89-Laxmi bai colony
Ph. :2337615; 4010685®, 2630601,9202221792(0) Mobile : 9425109601;9907757815(P); 9300618521;9425110860(0);9301994837;9425772164

PREMIER INSTITUTE for X, XI & XII .© publication of any part of this paper is strictly prohibited.
Visit us at : http://www. targetmathematic.com; Email:agyat99@gmail.com.




TARGET MATHEMATICS by:- AGYAT GUPTA Page 3 of 7

9.

A

o S
B D C
Two coins are tossed simultaneously. Find the probability of getting two heads.

<1 RIad! DI U A1 IBTAT ST & | &7 FId U1 dxey &1 UTRehaT S BTy |

10. For the same cumulative frequency distribution, we have ‘less than cumulative frequency curve’ and ‘more than cumulative

frequency curve’ as given below. Find the median of the distribution.
TEh UHR B Gl IRARAT g4 & g 89X U ‘¥ $H ol IRIRAT a8’ AR 4 Afdd Fodl qRaRar 9% A9 QY 8| §e &1 agd 9
BT |

by
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SECTION B
urs §

Question numbers 11 to 15 carry 2 marks each.
To7 T 11 W 15 TF JAE GIT P 2 3B 8/

11. Find the sum of all two digit numbers which when divided by 9, yield 1 as remainder.

Y 3BT B FIT3I BT AT T PIY D 9 I i -7 =R 9%t 1 B |

12. If A and B are acute angles and sec A = cosec B, then prove that A + B =90°.

or
3
If sin (A + B) = \/; = Cos (A - B) and A > B, A, B are acute angles, find the values of A and B.

afe A 3R B =S 2 3R sec A = cosec B, &, @ g aifvg f5 A+ B =90°¢% |
arerar

af (A+B):\/2§:cos(A—B)sﬁ'\f A>B, A, B=ran & @ A 3R B @1 A 51 i

13. Find the value(s) of x which will make DE | | AB in the given figure.

X BT AM F1d BT S & 78 amefa # DE | | AB a9 @
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14. In the given figure, A (2, —2) is mid-point of the line segment PQ. Find the coordinates of P and Q.
Y

& T amgfa #, Yargve PQ @1 we—fag A (2, -2) ®1 P ek Q & fderia aa #iforg |

15. A jar contains 36 marbles, some are red and others are green. If a marble is drawn at random from the jar, the probability that it is
red is l . Find the number of green marbles in the jar.
TP SR H 36 B & A B ol & 3R ¥ 8 | IR 39 IR H 4§ 5ol Ue Hal Tl Sl &, A1 $9 dd & ofld e bl Uiiebar
é 21 9R # & Pl P G 7 DI

SECTIONC
grs |
Question numbers 16 to 25 carry 3 marks each.
o7 G 16 W 25 TF JAF 97 & 3 55 &/
16. If -2 is a zero of the polynomial 9x’ + 18x”— x — 2, then obtain all zeroes of the given polynomial.
Iy —2 9gug 9%+ 18x°— X — 2 &1 I &, dl Ay Y 9gue & A D S B |
17. A diamond seller sells diamond of weight 10, 20, 25 and 60 grams only. He is allowed to use just one type of weight. What
maximum value of weights should he use as to weight each one of them accurately.
T ERT fashar dad 10, 20, 25 3R 60 IH & IO & ER AT & | SH A TP 81 A8 B ol BT TN S 1 A el 2 | a8 aor 31
DI AT APTH A TANT PR AMb G858 GAD Pl Fel | do P G |
18. Find the values of a and b for which the following pair of linear equations has infinite number of solutions :

2x+3y=7,(a+b+1)x+(a+2b+2)y=4(a+b)+1

or
Solve the following system of linear equations for x and y :
2(ax—by) ta+4b=0,
2(bx +ay)+b—4a=0
a3dR b o 5w a9 & forg 7 Rgd TR0 IH & < & ©
2x +3y=7,(a+b+)x+t(a+2b+2)y=4(a+b)+1
ferar

X 3R y & forg, /=1 g wiiavr e o1 g I
2(ax —by) +a+4b=0,
2(bx +ay)+b-4a=0
19. Find the ratio of sum of the first 43 terms of an A.P. to the common difference. If the sum of the first 15 terms and that of the first
27 terms of this A.P. is equal.
or

A contract on construction job specifies a penalty for delay of completion beyond a certain date as follows: Rs.200 for I day,
Rs.250 for II day, Rs.300 for III day and so on. If the contractor pays Rs.27,750 as penalty, find the number of days for which the
construction work is delayed.

T FAR Aol # Ugel 43 YT AT AN B ANT BT AU ST DI | A $9 FAMGR A0 & Ugel 15 YT $T ANT iR Usel 27 UGl B AN
I B
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20.

arerar
e SaheR U MREd 7 @ 9 (@@ &) pfar § <8 @ forg 91 yoR & I &) I R BM aRal § : ugd foT @ forg 200 W, R
a7 & forg 250 %, R T @ forg 300 &, &R S UK o QAT &7 AT o1aT @var 8| IfY 98 27,750 . AN & ®Y ¥ 37QT el & A
faifea fe=t &1 dwar fHrare |
cos A sinzA
11— tan A cosA—sinA

Prove that :Rig #10 :

=cos A +sin A

21. Find the point P on the x-axis which is equidistant from the points A(S, 4) and B(-2, 3). Also find the area of APAB.
or
Determine the ratio in which the line 2x + y — 4 = 0 divide the line segment joining the points (2, —2) and (3, 7). Also find the
coordinates of the point of division.
x — 31 R fIg P smd @i, o fasgeit A(5, 4) 3R B(=2, 3) & ¥AgR 811 APAB @1 eawer f sia aiforg |
perar
famgait (2, -2) &R (3, 7) 1 Sire arel Y@EE & @l 2x +y — 4 =0, 59 orgurd # o axalt @ s9 =a oIy | s g &
frderies 1 sma @I |
22. If the mid-point of the line joining the points (3, 4) and (k, 7) is (X, y) and satisfy the equation 2x + 2y + 1 = 0, find the value of
k..
af fagalt (3, 4) 3R (k, 7) &7 e aTel Y@rEs & 745 (X, y) § 3R FHiaxer 2x + 2y + 1 = 0 &1 6 &<l 2, aF k &1 919 =ra
I |
23. Draw a triangle ABC with side BC = 6 cm, /B = 30°, ZA = 120°. Then construct a triangle whose sides are gtimes the
corresponding sides of AABC.
e st ABC s9sy foad BC = 6 941, /B =30°, ZA = 120° 2| iR wa o e & a1 a9y et o AABC @ | a
oTrait a%“r;ﬂ—vﬁ & |
24. Prove that the intercept of a tangent between two parallel tangents to a subtends a right angle at the centre of the circle.
g #ITT @1 ga @ A TR et YRl & §o e Wt W a1 sfawe e W aHeI SfdRd wRdr B
25. Four equal circles are described about the four corners of a square ABCD so that each touches two of the other as shown in the
given figure. If perimeter of the shaded portion is 88 cm, find the area of the shaded portion.
A S B
LA
\QV/ R
D C
e @ ABCD & aRI ®F IR IR FHM g 39 %8 © & TP ¥ I BI G 7 (@Y AR Wl ST & | Afe gRAm 88 4. &, a
BT AT BT &=thel ST B |
A S B
p
Qv R
D C
SECTIOND
grs §
Question numbers 26 to 30 carry 6 marks each.
9T T 26 W 30 TH TAF T B 6 IF &/
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26.

27.

28.

29.

On the same graph paper, draw the lines given by the following equations :

x—-y=0,x+y=0and2x +3y=6.

Shade the triangle formed by these lines.

TP AT BATS W, &1 T8 GG 31 X@g Fifew

x-y=0,x+y=03R2x +3y=6.

S XERIT R 99 ST 3T Brifdad ST |

The angle of elevation of a cloud from a point 200 meters above a lake is 30° and the angle of depression of its reflection in the
lake is 60°. Find the height of the cloud.

A 7 200 M. SR W RUd va g ¥ 916 &1 397 B0 30° & 71 Al H 3@ WIS FT @A BT 60° B | G DB FAE T
I |

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding sides.

Use the above for the following :
If the areas of two similar triangles are equal, prove that they are congruent.

or
In a triangle, if the square on one side is equal to the sum of the squares on the other two sides, prove that the angle opposite the
first side is a right angle.
Use the above for the following :
Determine whether the triangle having sides 7 cm, 24 cm and 25 cm is a right angled triangle.
fag ST 5 <7 Ty o & &3wel BT U §@T AT qOTsl & U & a¥ & axraR B 2 |
71 @ forg ST &1 ganT SR -
IR <1 AFRT PRSI BT 8F%d 99 B, a1 g B 6 7 qairad © |

Jferar

g B S &1 Ua oI &7 99 319 QT qoTisll & i & AN & SRIER 81 A1 Rig DI fF I8l Yo &1 @ B0 9ol B 2 |
SURIT BT AT B e & g BRI
I HIRTT B Bryet gt qard 7 941, 24 9L 8k 25 9L 2, v wAS B3 2|

An open container made up of a metal sheet is in the form of frustum of a cone of height 8 cm with radii of its lower and upper

ends as 4 cm and 10 cm respectively. Find the cost of oil which can completely fill the container at the rate of Rs.50 per litre.

Also find the cost of metal used, if it costs Rs.5 per 100 cm?. (Use 7 = 3.14)
or

A metallic right circular cone 20 cm high and whose vertical angle is 60° is cut into two parts at the middle of its height by a

1
plane parallel to its base. If the frustum so obtained be drawn into a wire of diameter — cm, find the length of the wire.
6

22
(Use = —)
7

TF Gell 0 [l o1 & dex 4 91 @ & fo~1d & PR & 2, s A 8 9L o et ok o RRi o7 Broamg waer 4 3
3R 10 WM. B, 1 949 H R R Y A FT oI 50 . ORI ofiey 1 &R A A1 | O1g B AR B g7 I BN I AR BT S 5 6

ufy 100 Y’ B | (T = 3.14 o)
arerar
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209, A F=rE 3R 2 BT 60° AT TH ¥ B IEH! HAE B A 919 F BB 9 g¢ I A &1 WFI H HIST T T, S T v B
1
IR & FAHIR © | IR 39 U Ag & fo~id &1 g — AL a6l TP IR & w4 ¥ 95 (347 S 2, 1 AR &) dd1s =1 ity |

16
22
(7[— TR PIRTY |)
7
30. Find the mean of the following frequency distribution :
No. of observation

Less than 10 0
Less than 15 5
Less than 20 11
Less than 25 19
Less than 30 31
Less than 35 37
Less than 40 40

7 IRIRar 989 © oy Aem SN PR ¢

YeTon BT AT
105 &9 0
153 &9 5
209 &9 11
259 PH 19
309 39 31
359 oH 37
409 &9 40
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